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AXxB=0 <——C=A%XB % A| B s & .y

AXB=—B %X A s

Ax(BxC)=B(A-C)—C(A-B) .°

Ongadall Ga (AISY) o ual) (o g e

/-l. x § = A}\ IA7
B TE

Cy - _(Asz zBx)
G AxB A B

C = (AyB, — A,By)X — (AxB, — A;B,)Y + (AxBy, — Ay B,)?

* axb
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A — (1,0, —2) s B — (3,2,1) oS3l =

AXB=48 -7 +25 oua)

B o pall >

-

:u‘;‘_‘l‘;mc)s.«g.

ZXE —~~ —~~ ~
XXy=2

5 P X2 = I8

| gi ZAXQ=5;

- ‘.g-—‘:}; 54._;3;3.“ D\é:!\ ;\_7.,331

*axb C =AxB

el 2l Bac |8 aasln

(¢] B e ; :
()
|A| cos 6

bt pitnl) periig® szt 125 CIENI
Bo= A faas.la) et an

Aot B taz. (b)
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i sl @Lé\]\,é}\‘.:n 2.>L..-Jt-,'.~' [ X V] amzadl jlids Yoad Glide fdia Sl des ‘,»\:_JW__»,&U
.5.5.1 IS S LS Olsna Salsu, v

RPNV, . |

S aone s u=2i+4j -3k, v=i-5j+3k :Q.‘;ﬂ!c)\.b\llé;l,ab\_-.q-,‘
u X Vsl 135gkas

w

i
u=J+4j-}h,v=i—SI+3k UuxXVv= 2
1

B I S

3

| | -] ¢ Sli-]2 2 4
W G pal isaes Al D —|_5 3|. |l 3 ,+ 1 _5

A A S Baame dadd el

~3i — 9j — 14k

u X vJ b as sl 255830 }
was s e gse Jux v =V(=3)2 + (=9) + (-14)?

A = V286 = 1691
5 g o b 5 1691 (515 0 5.5.1 KU pSY1 51 g2 B-le O 1 5.5.1 gsan

1 ".;" ""'."" u
Ol slmze Olals u = —6i —2j + 3k, v =4i +3j + Kk 13l t&.&‘l‘é}‘pi»\..-.@,‘ @

SIosbeme Sl S Il=2i+4j-—3k,v=i——5j+3k4§‘§_u|&MY'é}|juch_—2»-\__p.L’_-‘,‘

B Erm = . uxv‘_.x.,.-,‘ls,h"-h
i ] Ik
1 —5 3
-1 —3]. 2 —3|- 2 -1
— l—
l—s 3| |1 3 ’+l1 = |k

T

Gt aem il eu=(3,2,-1),v=(—4,3, =2): 3513} cua, V 50 O LI} 5 syl
u-v

ful |v]

(3,2, —1) - {—4,3, -2)

1{3. 2, =1)| |[{—4, 3, =2)|
Drebialt (e US Jgley S ARIAll ol am gl COS O = 3

Via V29

O a3 S g Jaios 9 = cos! — = 101.5°

V406
GLm 10157 jau, v oy &t 1 Ll O (sl

Slegh e 3ax5 04
Aedzacil Niu=—4i+2j +k, v=4i +3ki gl o Lyl U5 2l (2

Iragrie (paadagizt COS 0 =

u=(3,2 —-1),v=(—4,3,-2) cCcos@=

<
<
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LN VRV IR Ve, | b ?

ol axlyt Jl) gptmg Suagn, U on Jpapib 05§ g, S0 5l e L 18
il pe 6.02-108

=i 32x10M (s
i 39x10™ (b
il 30x10M (e

iy 3.2x107 (d
2 399x107 (e
&5 30x107

(17 m.-32 m), (0.7 m A5 m) by il eleull dliou i 19
w3 B3m-12m),

IV {d I e Il b I la
sl o) s il 1] byl g i jlaa Lo 110
1&'&;“ waelaly

bl el (d wd el y 2

wila ) padl caeliay e kil J) pdl iy (b

bl ) ity 1 e
Taladl e i)y 0009834 saahh e il 3y S 111

9.834x10" [c 9.834x10° (3

2.834x107 (d 9.834x10™ Ib

104560 >all Lpadlacy/ AW gyl ol 2Tk e/ 112

arly (@ 2% (c i 18

kit 1d as b

HGW) daly Laus 1 3 owmsl) bl liny sie o5 113
10" (e 10° (c

107 {d 10!

10 = vy B € ols 1) Y = 1/ 1= (o/c)* alg 10:.‘;:5'

y-wle 7=21c y-1(a

7=vid 7=010

gl o all L 2.1.0) = By 10.1.2) = £ gttty 195

tAsf L

1le 0 (d 2 (¢ 6 b 3 (a
AT ,alt 42,00 0 By (0.1.2) 2 F i) Y il 116

TAB L
0.0.0 e (2.0.2 {2.4-2) a
(1 12- .3’ ':d ‘1 .0 |1I ‘b

15 Zarmgl) g2l Gaiy LI s 1 g gl 11

265J (d 523Hz e 483m/s (b 36gla
Cimpnan Sl byl o B = Ay rgote fly A 5 5] 12

A fsi Il by B tana 0

laalacs E, Al

180 atj A olé! ayl; ols J aldt 2 (e

A+B=241d

Ao plily il syl ol allaidl s iy 236 G 03 13
Tl s ol it g 500

Ll 3 S € Farlls (a2

wlin ol 3las % ¥ {d pahs (b

£3.0000, 3.0 g (b oYy G 1.4

30 Liw riglas dolee § idapis g ine p% f 3¢ 30000 (2
Al byl oo g gl o

30 Ga 3oh g3 e by e i i 30000 (b

il amy ¥ lE

(Y13 Jogil] 30 el fiai 8 s daglal) gl (d
ok 7 MM/PS Gl et 15
0.07 m/s (d 7mis le 70m/s (b 7000 m/s (a
B T i sgad L0 i 3 0 lad s ps iy 1.6
doleal) a2 ks sy od ol deds e dppa o) B )
A bl s ey eSS 2Lt

in (e mm ¢ MM e 0l e o 18

cm (d MM e 6,2l 4o o> (B

¢219%10" m , 5.786%10° M gpus L 1.7

8.976x10°m (c 602x10% m (a

B98x10° m (d 377x10'm (b

LLcl2.c13.d 14.b 152 16.b 17.b 1.8.¢ 1.9 L10.b LILd LI2.b L13.¢ L14.a L15.¢ 1.16.2
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stag) sy alb¥ly il oo G ysione crprin By A ol5 141 120

el plall lake 3 alé¥ly Jusl) Lo g tic iy C= A 4 B
Salffly Slaitl Lo o i 98500 clgaell b il o2 ¥l Lo aae

saal) dolbd UP ALl Lo by Ul Joy cd bl o gty 121
plihiae? 3000 gl 23 U Sy suall W 285 ¥ 0.0000000036
‘."‘,.J...Il' et il

ST 3 el a3 (S chingl) Syt pliaall pssig 110 1.2
pial 8 52 paa gyl il gl o s o2 Jy bl

tella galintd!

Brand il paadly Jpdall § dpglaca by 8 g 85 Ja 123
Toly 5 oS o 13ly lpnia DU i prld UES Tt 518 130 S ke
-

B 3) o U i 38 ALS) Ja 1,24

g0 ool pda Lo Lpdy galps 3 ol ate bl aes 183
Tl ill y DLl g it o) Jalal) LY 0pltdl pone i L 1

sapl 100 8 1Al Jl) )bl i) oL g Lpst) § 117
ol J8 Q) pa daasid) bas gl iy ¥ dasl) Sy

JS 122 Sl 3] s et 2 lla 80l e s (b
¢apkS 100

Moo 27,4 coalad 130 gl S 100 S0 200 S e ol ¥l L (€
RTL

100 JS A0 i gty JS) Jleal) sas gy pionia pos LS Ja {d
S UPIR CRPPCR B [ECR LR HI R FPA

sie oS Yaaag dypllall LS 00 sue LD adyy Lo Uncs Goay il 1,18
falu¥l PRI RES JUR WEIEEL A AER SRR UM CIR. S
A pasady ple S banly 80 ga 251Uy lnll oV s 119
taet) pa cesal s loy Lo O pslyll a0y Lyiay) sy sz G
Ceslgmill pasiiasd 13l 15} 2l

1.17. (a) In Europe, gas consumption is in L/100 kkm. In the US, fuel efficiency is in miles/gallon. Let’s relate

these two: 1 mile = 1.609 ki, 1 gal = 3.785 L.

1 mile  1.609 km 1.609{ 1 ]
gal  3.785L  3.785! 100

) km | l v
{100]T={_0.00425}[

1 A 1
L/100 km !  235.24 L/100 km

Therefore, 1 mile/gal is the reciprocal of 235.2 1L/100 km.

(b) Gas consumption is . Using 1L = ! - from part (a),
00 km 100 km  235.24 miles/gal
122 L =12_2[ 1L l=12'zl 1' l= 1 _
100 km 2100 km .235.24 miles/gal | 19.282 miles/gal

Therefore, a car that consumes 12.2 L/100 km of gasoline has a fuel efficiency of 19.3 miles/gal.
(c) If the fuel efficiency of the car is 27.4 miles per gallon, then

27.4 miles 27.4

1

gal 23524 1/100 km 8.59 L/100 km
Therefore, 27.4 miles/gal is equivalent to 8.59 L/100 km.

(d)
¥ [mpg]

250
200
150
100

50

2 4 6 8
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It is possible to add three equal-length vectors and obtain a vector sum of zero. The vector components of

the three vectors must all add to zero. Consider the following arrangement with |Tl ‘ = |T! | =

The horizontal components of T, and T, cancel out, so the sum T, +7T, is a vertical vector whose

L

magnitude is Tcos&+Tcos? =2Tcosé. The vector sum T, +T, + T, is zero if

2Tcos8-T =0
(:lc:-s|5’=l
2

g =60"

Therefore it i1s possible for three equal-length vectors to sum to zero.

1.24.

1.25.

Mass is not a vector quantity. It is.a'scalar quantity since it does not make sense to associate a direction
with mass.

The volume of a sphere is given by V=(4/3)7r’. Doubling the volume gives
2V =2(4/3)ar =(4/3)7(2"")r" =(4/3)7(2""r)’. Now, since the distance between the flies is the
diameter of the sphere, d=2r, and doubling the volume increases the radius by a factor of 2", the

distance between the flies is then increased to 2(2"°r)=2""(2r) =2""d. Therefore, the distance is increased

by a factor of 2'°.
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1.2 (-—.ﬁl:ul
Sa =i slaeW) e IS5 3 assaiall ald,¥) sac Lo 1.35
7.01x 3.1415 (g 0.00001 (e 4 (c 4.01 (a

21 — 1.10042 (f 200001 (d 4.010 (b

20031 N Jo¥) Jans camuas mead) 3 51,555 Sezaliss 553 ool £ 1.36
)50 ol Sboaass)) Sbaal) Leas 312 N Lalanes auis als¥) 3 anli)) s5ally
a3, ¥ e ) saad) ) L ae mwd) 3 5,551) Gaal) Ala>r! aza) mend ) 3

) caisgswllt

.-E,l}'_!.-{-" ',-lf_:l_,ri*t‘ P CE.J_..&P” ) ‘__,..{»' L' aos Llycgosa S gl 112 3 3.163 3
z=6.000, y= 2.48x10 %, x= 1.1x 103, w= xyz Jslal) alasl 1.38
Laggaal) el pseal) saalbs ala)) ol W 2S)

reeia ) Cre ey Cmedle 3 tue Oe o5 i edad) Georidly dueS)) ode 2SS 1.39
LBagals yowuwoz3 ashlhg ala IV_A.L-I-II s s sawl) lias LY 1.40

1.3 '......-.'i.ﬂ
S13509l.5 30.7484 3 13nacw oS 1.41
caJlzd) 10 583 ae BBl A i ,all sl Le 1,42
10°< (b 107 (a
S aesl.S) 3 1helle s 1.43
?'F’. .__,1_ e ,L:-;jnl_uq JL'.i.@.” 1.44
TSasl) Seslst) 3
p o 5 45

= u&h_'AJ' “3 __h_.._.,.a..]'l St 3 1-
ad) ¥ le JSld) - stae 5l ‘:"l’"'” o 3 , - ’ >
< Tn;ﬂ_n_-p-g.l_] ‘___,Jg_;Jl ‘&LL-L-LJ" M i | B el o e = Sll=s

LaSs 4 5 K 1.96
z24.7 25.3 g a=ead) colSs Sl e =k «.»,iupswl,zgﬂ

| o 3.__........_:- ‘_r_g_!_‘l-” _,_-_.n_,-'-Jlg aJd=n al. wX) e ..__.;_-r-i 25.8 g s - 9 a
‘;,I-L:-j - ? ) 5-L'._-rl.| ,‘EJE" = ._._._.;I_'.J.' -'I-‘ln.-.-I-“gj -ag_;l-_s-'l-l-' ":"QIJJ]' ‘n-l_h.i.“

allex¥) aliSh L Sl S aeady das,%) LS)) laaSe ewSs £ 13 a
ol sleSIl o Sul)
Sl skl ¥ LSl Sl alS)) dawsie Lo (D

1077 (e

W LY U8 | gAFeS Sl o | yaed| Ao ‘!;,l—-n; 2

1.35. (a) Three (b) Four (c)One (d)Six (e) One (f) Two (g) Three

F +ty
1.36. F =2.0031N and F, =3.12N. Both F and F are in the same : |
Fu=YE=E+F F, +x
FM:2.3031N+3.12 N=51231N

. =(1.1-107)(2.48 - 107 )(6.000) = 1.6 - 10°.
1.38. w =( X X ) 1.42. (a) kilo (b) centi (c) milli

1.39. One millionth is 1/10° =1-10". |

one ten-millionth islf|:ll]-1{}5:|:1f1{f =1-107 cm. 143, 1k1n:1k1n[ 1?0£m1[ ID[llt}mm 1,000,000 mm =1.10° mm
m m
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1.44. 1 hectare = 100 ares, and 1 are = 100 m?, so:
(1000)* m?
1 km”®

1 km?* = lk_rnz[

{ 1 are ‘u’ 1 hectare

- ] =100 hectares.
100 m~ 7\ 100 ares

1.45. 1 milliPascal

1.41. There are 12 inches in a foot and 5280 feet in a mile. Therefore there are 63,360 inch/mile.
30.7484 miles - 63,360 inch /mile = 1948218.624 inches. Rounding to six significant figures and
expressing the answer in scientific notation gives 1.94822-10° inches.

1.46. (a) M, =m, +m, +m, + iy

M
(b::l M — tokal

average 4

CALCULATE:

(a) M, 6 =2.53-107 kg+2.47 107 kg +2.60-10"" kg +2.58 10" kg
=10.18-107" kg
=1.018-107" kg

10.18-107°
(b) M, .. = " kg =2.545.10"" kg

ROUND:
(a) Rounding to three significant figures, M, =1.02-107" kg.

(b) Rounding to three significant figures, M_ .. =2.55-1 0" kg.

20-.5 crrm Ugle s WHaenn St el dv b dtline Lo 1.47 @
S1I1I. 2 cm La 13 z > 9

RESEARCH: The surface area of a cylinder is A =27rh+27r".
SIMPLIFY: A=2ar(h+r)

CALCULATE: A=27(11.9 cm)(20.5 cm +11.9 cm) =2422.545 cm’
ROUND: Three significant figures: A =2.42-10" cm”.

Sla, 125.4 we),3 colSs casad) o3 ) Gl olsd) Lle Cuady 1.48
SalszpluSily wslzlaS La

RESEARCH: m, =m, { %]

SIMPLIFY: It is not necessary to simplify.

CALCULATE: m, —125.4 1bs[ @ l: 56.88144 kg

356,000 KM o a1 ¥) 3,50 35,0 J) el 35,0 e a8Lal) ol 1.49
L ,as 407,000 kms

Sioil manliSIl saml) ol Wlkas (B Ls (a

i) g ST, sl )] aBlaics oyl (b
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Laa®d 60 asliuoe 3o abi,os edU) 3o cJorundd) 3,5 (5592 2 1.50

S,LLEeYL aslul) z2l5 S awsJ) s3aeslal) e exalisay O

-
T

Q.7 Cm._ub."."_x:v ‘affuéMd}buqu‘:met?Q}iﬁ}%1:sf

8.3 cm 5 6.5 cm o 3.2 cm Lgul> LS = a.Blazs —s)3ans PLS =

elal) 3ee L aJEd) Al w¥) e =) 155 cm 5 11.5 cm 19.0 cm ,
Chgi ) Lyala® 3)) Adll) dawsie Lo

Semalzad call @ si ) Lealad )
) S5 aslgd) azanl) 3

1 & — _
_ -xﬂ_ xw_xl+x2+x3+x4+x5+xﬁ, xE‘-’E_
6‘n—l

X oal
x

T

=(F3.2m+oe6.>mMm+E8F7m+-100m+11.>2>m4+155m)-107 =>35.0-107 m
= (3.2 6.5 8.3 10.0 11.5 15.5m)-107 =55.0-107°
55.0-10"

— = M _9.16666-107 m

avg

pj.-ﬁ -8.7 ‘_j..al_t_(' ‘_p)'y'

,bjg@w,,siu__.s,s,bsmg-,uug 1.55
Q‘_,o)?'c_la_.u&}m&cujﬁ’c_b_ubm P

A =47(87n,)

1SS ,lad cawas LS 15} 1.56
S‘ub):x' == O S8 pomo S

A, =(75.69)47r’, and A; =47r;. By comparison, A, =75.694,

V. =(4/3)7(58r,) =195.112r,’(4/3)7.  Recall, V,=(4/3)zn’.
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34m£Ln_>)b 1w|6,uagl¢,wuuu5;umu@lu 157

c_la__.é-’c_la...u

d, =,J2-26 m-(6.37x10° m)+(26 m)* =21 km

and

d, =\/2-26 m-(6.37x10° m)+(26 m ) =18 km

d, +d, {2R+34]-34 + {'2R+25‘|-25

(z{ﬁs?xﬂﬁ +34m\3\£m+ 2[63T><1[I‘5 m‘i+26m] 26 m

~39km

0 30¥! waw 58 10,668 M ¢ls)) Lle @l 5 5Us 3 cuS 13) 1.58

&+ R =(R+h). 1 m = 3.281 ft. d=+2Rh+k: R =63710m
§ ) (o Moy 156 3 LiaSo s o5 1.59
barrel of oll = 42 gallons = (42 gal) (231 cu. in./gal) = 9702 cubic inches.
1.56 barrels %) =15135.12 cu. in.
|,> 1.60

aas y o dacla p.slﬁ J‘._la._..u.n dg..\.“a J_S_u: uLt. Lo o)L._..u 3 L_,.v)...a_“
ccug.«_u.m UAJ’U.LL;_MQ_)L._..‘;Jl u' ,__,al).q.ﬁl.a u';—*’éu—’r—‘-”d-o—ﬂ D)

1500 cm”

d:Vgﬂ “'1 d= 62 cm)’ =0.390218 cm
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,Joj a.ndg h —_ 2.5 m d_cL’n_':)' .u.ugj._i_c Jog)p'-ua LJS_:..- kJ‘L" Q'}} 1.62e
sl Baly s 15 LIS Jasiag gist) 3 okl s &1 r= 0.75 mMawacld
' Tolsd) oo Lod,day

1
Vv _ lﬂ_r;l_h W= VW&[E‘I —?l'Tzh = wit. f— fﬂ'zh
cone 3 t 3 3w
75 ‘(250
f - TS5 em) (250 cm) _ o0 1000

3(' 15000 cm” ]
5

L-sg.l_:.” rdaad) LS 15) 15 L/s Jaac JS&J caaSo o3 ) old) 3oas 1.63e
iler oa cole US Jske Led ot JS 15 CM Jusg gioe o) J51s aleal)
Sl el

AV, .. .is 15 L/s=15000 cm’/s. Ah=L15cm/s. AV =IAh. Al

1.5 cm/s

"15000 cm?® /s
Iz\j[ cm 5]:10(}.1::[11

3X+6y—-102+C= —7%+14y

3+6p-100+C=-T+14y,  C=(-Ta-3%)+(14)-6))+102 =-105 +8+10
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aszl) Joks axgl . y=—535 My x=34.6 M a5, 2290 azze 1.77
X 55%) 2o azs)s

- 3 7 f Cv b
‘C|:\."CJr G E’=tajl_l‘ C_‘ T
o 20 40
& H x [ml]
- 7 > [ -53.5m | =20 e
Cl=4+/(34.6 m)* +(-53.5m)" =63.713 m, &=tan™ =—-57.] — 1 O
‘ ‘ y dah ‘ | 346m o] E N
_"E’:-

‘_SA = 8§ (b) 5 9§ = BA (a) olsly Llazs 43.-3‘\ 1.79e

B - (90.0, - 150.0) .4 - (23.0, 59.0) =~

- _ A
A =(23.0,59.0) and B=(90.0,-150.0). 3 o, 230 aR0 720 x
400
C‘I!
=200
LI 95
<,
— 1200
wa
(b}
e
A
_5;1‘ 3@240‘ 450 T20 x
— <Oy
S
— SO —t
C_f
— 1200 —
— 5.4
_ _ _ _ C,
C=(C.,C,), C =nA,+mB,, |C|=,/C.”+C,, tana. = =

(a) C, =—3(23.0) +9(90.0) = 741.0, C, = —3(59.0) +9(—150) = —1527.0
A=(A,A,)=(—30.0 m,—50.0 m)
E| = J(605.0)% +(—1495.0)> =1612.78

(b) =(30.0 m,50.0 m).

" —1495.0
G. =tan”'| ———— | =—67.97°
' . 605.0
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A - (Ax, Ay) = (-30.0 m, -50.0 M) Geasal¥ e ge 180w
Lo-é—bls-‘g lea )lanoe o> B = (BX, By) = (30.0 m,- 50.0 m)3
v l) X 950 o wlall B3,

A=y-300m +(500m) 583095 m, B={(300m'+ (500 m} =583095m yml,
B
500 o .y
6, =tan” m\=59.036°: 180°+59.036° = 239.036° B/
00w E
; ' a !
S00m | S
g =tar”| —— |-59056 =3 BT ()
00m, g
'/ a0
o

v
. o 2 -0 1.65
LS e gl Xyl Hab 57.07 asplss 40.0 M algla gAge ams )
SIMPLIFY: Ax = |f‘c-:-s:5‘ , Ay = |E‘sin 8
CALCULATE: Ax=(40.0 m)cos(57.0°)=21.786 m, Ay =(40.0 m)sin(57.0°) =33.547 m
. < a P . 2 B 1 .66
b=13.7 cm, a=6.6 cm gia¥ Jlphbl J5i) 3 rasll ~“;‘3’2 lm
U A o) asly sziueli) $Y Zysls)l @B Lo €= 7-& ©TTS
c® =a’ +b® —2abcos ¥
et =a® + b —2abcos
Zabcosy =a +b" —c”
a® & b? _ 2
cCosp =—————
: 2ab
L a*+Br —c*
o= Cos £ - =
’ . 2ab J
:cos_l|:{6'6 cm)® +(13.7 cm)® — (9.2 cm)” :| — 35 .83399°
260 cm){13.7 cm)
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A, =75.0c0s30.0° =64.9519x, A, =75.05in30.0°=37.5y
B. =60.0cos161.0°=-36.73, B, =60.0sin161.0°=19.534y

D, Cs éa A olgmall olS e -\f.rsi 1.67
B=60.0, A=75.0 Llsh! =ols )]
SlE¥) Llgys D=90.0, C= 25.0,

¥ byl (S JSa) § i
Basgll hlgie

C, =25.0c0s2320° =-15.3915%, C, = 25.0sin232.0° =-19.70027

D, =90.0c0s333.0° =80.19058x, D, =90.0sin333.0°= ~40.859144y

A=65.0%+37.5), B=-56.7%+19.5), C=-154%—-19.7), D=80.2x—40.97.

VNS o e lg== =L S o PNENES LB 1.68e
slen¥ 1.67

LS, e at¥a, A+ B+ C + D, . (a
A =B Ed afE s paeil) s)sbia, U

(a) A+B+C+D=(65.0-56.7—15.4+80.2)x+(37.5+19.5-19.7 —40.9) y
=73.1x—3.6y
(b) |}i _B+ f:-‘ =J(65.0—(=56.7) +80.2)7 + (37.5—19.7 —40.9)* =203.217

6 —tan-t| 37:5-19.7.—40.9
v 65.0— (—56.7) + 80.2

:|=—ﬁ.52?l3°"

20.0° as5)3 alasily ¥let 1.50 KM aslus alad¥) le pasd sl 1.85f
15ame Jlodd! J) calas) & .olE¥) <ls 3 150 kKimM slio & caudd Jlaidh )

SlEY) Log caloa¥) a®das) dlamy e ase o5 ) 1.50 km asl.l ;Lo
- : Calad) abas J) aJb

: ‘ﬁ‘ = /(=1.50c05(20.0°) km)® +(3.00 km + 1.50sin(20.0°) km)’

— /19868 km? + 12.3414 km® =3.7852 km
[ —1.4095 km |

§=tan”| |=—21.862°
| 35130 km
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350 i) e g )] Ols prewbial) adnJ] 2 Ve ) s 5, % 2
o 78% Q- > ‘.._5‘;"“ =9 - ' LJ‘Q -+ _' . ] : 9. a_) : o -_;” ;Is_;.
S>> ) e )J...L_” O lo 3= e Pj.ﬁ L:.JLuo |)Lg O >
B Lt ), a a 0.5 L aJLJ) sundl dawsse 3
ck_m_..u‘__._'a.“ daanllg 5_)'_,_;' a> y> $ : &L o i

23 I 4l >, 1.86e
aem> ale Jlo 5Le o (=sbs3o- 6.02%xT0%°) astoll Joll & e

_ 0.800(0.500 L)(6.02-10" molecules)

= =1.07500-10% molecules
preath (22.4 1)

N

: ) 2 7e

Jam o) LS o2 uSeS e fe! uSeS o A3 -200_3 _Jfl':»*z' 5(7) 50108_,_4
- e usal) (SeSt) as) sl ) aer> b3 £ 13) .a 200 s
de*’b u; _;_>...J qu olle adowls pod) U3 3 (o)) ) _L_._L -*:9’3
sl N -_\_51:, Slyssasl 2 aslal) als oS9 6784 krn_ a‘,b_-?a s Haiigd
SAac (" T 1 ) ¥ Ly 2 e e 0 i e

1® Vo2 di )
24.9 arc seconds ]{ T fadians ]= 1.207-107" radians.
3600 arc seconds |, 360°
The distance is then
2 6784 km
Dy =—M e _56205-10" km.
O pareie  (1.207-107° radians)
e e Ml Can, 55

.- =l 53. “=,e5 sie 100 anzl) 5,5 Cala Job 2l 1.88e
2190 S S R ) GaLall 3 alio; () 5L,SI) 5,08 Aol call) 35,0

X 5915 maamll 3,5 —eale cmmie 3 SLAIAS DU L) alaan o) e ae) Lo all)
SRS ) AP 4 BN BN | Sloe ¥ ol i alal) Jala@®) Cnld) olS) 3

B2ad) 3 alios ) e SU) o ascy 3 assl) Jolas olE) as) (a
S @ eeall) Lo 3 @esel) 3 alios aBsl (o, W) A W leaaw) 5 ,<s (b

o g3 (@) o1

@ |&~‘ :\/[ 53 1/3 yards'r +[' 100 yards
2 2

(b) 6, =180°— 6, =180°—28.072° =151.928°

6, =180° + 6, =180° + 28.072° = 208.072°

8, =360°— 6, = 360° —28.072° = 331.928°

o 2 P .
53 1/3
] = 56.667 yards, é?,:tan‘l[ 0 ]:23.13?2“

e s 768.49 m ggl...ug S 95 ‘__3 ng,ﬁ]?‘ R y>0 aals> laass 1.89»
azgaal) ald,¥) o cewlil) saadl ) Blae . Aagudly ezl

g 17684 m}[ 10010 \_ 96295007 inches C=2ar,d=2r
r 1254m, _c'mﬁin“l
~rl254m,
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(A cilapn) 1S5S0 solall ae gl ol
diblesoso /] (2018) < 5)l Bslo

@ zally pdsll 5,11]
Soy,—— Jldu,n

|

camllas (o3 830 e LoLas 5% J) 4% oSt awsS) (5B Jic 1.90ee
oSt eSS Ge (Glase 6.02x1073) =il Jol) g &V Lo

) s tadl Guand) 3 O5 L La5s cols 22.4 L golew

Lese Lea3dl 3 Leallas 3 OeeS)) aeaS) (pb Slose sae 533 (a

e L3l ,>slS oS3 .44.0 g eSS aeasSt SB oo
Calall B sl

as1ad) Jsl) alzS =ots 15y (b
b3 Lealiad 52,50 aenS) (26

CALCULATE: co, =2%405D)

s =—— " 2(6.02-10" molecules)=5.375-10" molecules
et 224 L

(a) CO, =# molecules exhaled in ada
2ty Y
=(2.5-10)CO,,

=(2.5-10")(5.375-10" molecules

=1.34375-10" molecules

1.34375.10° molecules
(b) =

365 days

1 mole

1 day ~ lyear

f ( 6.02.10" molecules

): 3.58482.10° kg/year

s S il Ll 35 a8 1a ) e gl o0 Lasie 1113
135 15) aleal) oim ol iz ¥ kS oy JS20) a8 ad Lol o jauld
W pad) o wMalas L 14 Jolas pad! el ol

PPy IOl P IVHYR |-

adayns (b
\poree (C
11.4% 47r* 471’
(@, == T 114227 —114%.1-129.9.
41r drr
11.4-(27r 2.
(b) original one to get A7) a2 yacina,
2ar 2ar
11.4° |4 7r° 4.3
©  volume is (—'3;=(11.43]3 —=11.47 1=1481.544.
sar ‘L
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-l_,.-.n.Jd.J.n.a:.u_J-.j'...i.. L'jmgl"._.._.”._ﬂulunl_.;” 107

*Bsﬁﬁhﬂﬂm]
(d), |36/ =36. ﬁt
A
_raﬂdﬂmmMUMdmp_mllqﬁJJ ‘1108
By A ool k)
(b), where ‘A-E“:D. (a) (b)
il allg i3 L8 L JS1 3 iyl JIQ:U.IHHL;IHEIP
By A pmprll a3
RO . B
(a) |AIB},—A},BI =|(6)(5)~(0)(1)|=30 BZ 4--——
yox =|{_5J|{3J_[DHG}|:18 /i A
=|(6)(2)-(0)(2)]=12

= (6)(0)~{0)( 6] =0

(©) (d)
«|=|(6)(1)-(0)(5)|=6
—(0)(1)|=24 B= - d B
(a). '
Hﬂmmﬂwwmmmdumwl1110 T el

By A sl :

(d)
id Jlmmw,mmwgm,um el oy 1
BsAwMuﬂulurAU““N

(e) ()

1112 J) 1107 go Jilwell JSb
D<6=06<12«<3036. least to greatest b,a=f, «c, e, andd.
451 N aallas dad il e JSa) § dssal) cowd) SYB) LS, 1.112e
| By A Graniell ald¥) ol dallas aud
cast to greatest 1 f<12<18<24 <3, d,e,c,b,f anda.
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il a9 Cy Ba A ulgzll 51 1.93
g LS, ot

A=(—15—(—-4)x+(3.5-2)y=2.55+1.57,
B=(4—(—15)x+(1—2.5)y=55x—1.5¥
C=(—3—-3)x—(4—(—-1))y=—6x—37y

Ei- ﬁ,ﬁ LI BT U P =

1 1.94a
P -

- 1.5
Al=4/(2.5) +(1.5) =29, 8, =tan"[ 75 ] =30.9638°

—1.5
B|= (5.5 + (1.5 =5.700877, 6, =tan™ H]:—ls.zssrf

N €= J(=6)* +(=3)* =6.7082,

-3
6. =tan™ j — ] =26.565° =180° + 26.565° = 206.565°

Yy :
4 ‘ Lales Ej E'ﬁh—ll‘.‘h.‘-.ﬁ Fich | L RS 1.95
2 =

) N —(7 — —ilandl

. 2 4 '3 ] x D_[EJ 3]'
=
- . - -
‘ L E=B=A e, s 1.'?&‘

4 A= (2.5 :+1.5 )
2 B=(s55 -—1.5 )
AR mm s E=B-A=B+(-A|
L2 -
—4

E=(3,-3).
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¥
i

E.I' E’ .lﬁ ‘;I-’-'!"-l—- ad el HI 1,907

4 e dmgly ebS AV Gaa da slase
2 a4 1 D gead
B
. 4 4] X - - = =
It ? D=A+B+C
G P2 N - . .
o D=(A,+B +C }x+{AF+BP+Cy)y
_4 A Y A
D=(25+55-6)i+(15-15-3)y =25 -3}
'}Ii
4 . Jl% E-h A= amclt
2

[F|=\E>+E;

2 x
[F|=y(C.-A,-B,y +(C,-4,-B,?

a J{{:—ﬁ.ﬂ}— 25=55) 1+ ((-3.0)- (1.5) - (-1.5))’

=205
(1] =14.318
= 40 A = @lSl alascat wlgmal) gyl 1,99
(A, AL (30.0 m, -50.0 m!
0 ..;-I.,,.-,.:.ll-.i.-,:lh.:;,,i,.ﬂ \8,, Er {-30.0 m, 50.0 m/,
~30 -30 30 40 x [m] B _
N |A| = A +a®, |B|=. B +B,°
- |A| (30 + (—50)F = 58.3095 m.,
-40 4 |B| - _
= {—30)° = (50)° = 58.3095 m
y [m]
A=A, A)-(30.0m, -50.0 m) ;s I i, L 1100
20 40 Sl Y jema gt LpdSe A0 dglilh Lag Ssmall X e 1
6, i x [m]
PN nd=(4 /A) = 8=ta(A [A) tmb=(4 /A)=8=tm"(4/A)
o I T B A | . [ T IV 17 1A
- 4 -
i f=tan” (=301 30)=-59.0%6", 6 =tan™(30/-50)=-30.963°
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